7
PERFORMANCE TECHNOLOGY [ 8ig Bore Springs Front (Vedium) Big Bore Springs Rear (Long)

CR177 CORE RC Big Bore Spring Tuning Set; Med 7prs CR178 CORE RC Big Bore Spring Tuning Set; Long 7prs
Wheel Nuts - M4 Serrated Flanged CR179 Big Bore Spring; Med White - 2.8 pr CR184 Big Bore Spring; Long White - 1.8 pr
Alloy Upper Transmission CR024 CORE RC - Serrated M4 Steel Whgel Nut pk4 CR180 B?g Bore Spr?ng; Med Red - 3.1 pr CR185 B?g Bore Spr?ngi Long Red - 2.0 pr
CR035 CORE RC - Serrated Alloy M4 Nuts; Blue pk 4 CR181 Big Bore Spring; Med Green - 3.4 pr CR186 Big Bore Spring; Long Green-2.2 pr KB
CR036 CORE RC - Serrated Alloy M4 Nuts; Violet pk 4 CR182 Big Bore Spring; Med Blue - 3.7 pr KB CR187 Big Bore Spring; Long Blue - 2.4 pr
CR196 CORE RC - Serrated Alloy M4 Nuts - Black - pk4 CR183  Big Bore Spring; Med Black - 4.0 pr CR188 Big Bore Spring; Long Black - 2.6 pr
CR304 CORE RC - Serrated M4 Titanium Wheel Nut pk4 CR635  Big Bore Spring; Med Orange - 4.3 pr CR699 Big Bore Spring; Long Orange - 2.8 pr
U7400 Serrated M4 Low Profile Titanium Wheel Nut pk4 CR636  Big Bore Spring; Med Yellow - 4.6 pr CR700 Big Bore Spring; Long Yellow - 3.0 pr

CR808 High Response Spring; Long Red - 2.0 Ib/in (pr)

. : CR809 High Response Spring; Long Green - 2.2 Ib/in (pr)
P CR810 High Response Spring; Long Blue - 2.4 Ib/in (pr)
CR811 High Response Spring; Long Black - 2.6 Ib/in (pr)

U4741 6mm Offset Servo Arms CR812  High Response Spring Tuning Set Long 4prs

AX011 Aerox Alloy Servo 25T
AX012 Aerox Alloy Servo 23T U7106

L)

U7338  Dirt Covers 3pcs - LI/EVO

U7342  Alloy LH Upper Rear Trans - L1/EVO
U7343  Alloy RH Upper Rear Trans - L1/EVO
U7348  Alloy LH Upper Front Trans - L1/EVO
U7349  Alloy RH Upper Front Trans - L1/EVO ! U7956

UB417 KB
".“. oA Fad \‘ -
U4650 U7689 KB |—

U8388 AL

U7670 76t CNC

STOCK SPEC U7085
U7106 U4275 KB U8065 AL Ug447] |U7671 71t KB :
CR282 Ti EXPLODED u7728
U4700 KB g e
! VoS0 u4217 R
CR720 Ti
: o u7677
U8380
U7630 s

U7632 Front
U8426 Rear

U7388 Front KB
U7434 Front KC
U7389 Rear KB
U7435 Rear KC

UB360  Stock Layshaft Conversion
U8449  CIF Chassis - L1IR
U7356  Belt 97T x 4mm Wide
Belt 155T x 4mm Wide

U7
U7

U7333 sf o |U8419KB | (U77
U7490 CFf ! . _ U8386 BR 07106
: 5 U7791) (U7107)
U8405
W U7105
U3871 KB
A3 |U7729 Pro[UB410 KB
o (U3022 e U8450 sf

. U8451 CFf
(us401)(U8427 kB
U8453 Ti

088 KB
U8390 Alloy Diff Conversion V2 998 Ce
U8391 Alloy Diff Complete V2

U4275 KB

U8297

U7328 KB
U7325 Pro

U8392 cvD

UB296 KB
U8311) (U8389 AL
U3708

296
389
'Y

'Auzegs KB
U4946 Pro

)

SEE ABOVE €

W

UB429 -1.5 KB

U8274 KB a
U7646-0.75 18443 1 Dot v
U7398 0 U7625 KB
‘ U8444 2 Dot L4800 AL
’ oy 18445 3 Dot ’ U8408 KB
U8273 : . ; U7353 Low U4707

U4318 KB
U4726 Pro

U3351 83t KB
U3350 82t
U3790 76t
U7417 83t
U7615 80t
U7616 78t CNC

RearEOnIy
Slipper

U8382 AL 6°
UB383 AL 8°
UB384 AL 10°

U7646 -0.75
U7398 0 KB
U7402 +0.75
U7403 +1.5

Wheels
U4365 Wheel; Hex Rear - Black - Off Road - pr
: U4366 Wheel; Hex Rear - White - Off Road - pr
= U4495  Wheel; Hex Front - Black - 4wd - pr
3 U4496  Wheel; Hex Front - White - 4wd - pr
U7418 V2 3 Plate Slipper Clutch Conv U7458  Wheel Front 4WD - Neon Yellow v2 - pr

U8359  Rear Only Slipper U8035 Third Slipper Plate U7459  Wheel Front 4WD - Neon Yellow v2 - 5pr
U7460 Wheel Rear Off-Road - Neon Yellow v2 - pr
EXPLODED VIEW KEY: U7461  Wheel Rear Off-Road - Neon Yellow v2 - 5pr

U7468 Wheel Front 4WD - White - 5pr !N A Ve
KB = Kit Build, AL =Alloy, BR = Brass, CF = Carbon Fibre, CFf = Carbon Fibre Filled, Ti = Titanium, S2 = S2 Material, D/J = Double Joint U7469  Wheel Rear Off-Road - White - 5pr M

K C = Kashima Coated, Mf = Medium Flex, Sf = Stiff Flex, CNC = Machined, Pro = Precision Bearing, Ce = Ceramic Bearing






